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PHILOSOPHY — GENERAL
Paper : CC/GE-2
Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.
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The figures in the margin indicate full marks.

1. Answer the following questions (any ten) : 1x10
(a) Iknow that the earth is round — here the verb know is used in which of the following sense?
(i) In the sense of propositional knowledge
(ii) In the sense of knowing how
(i) In the sense of acquaintance
(iv) None of these.
(b) Which of the following proposition is apriori?
(i) Grass is green (i) This flower is red
(iii) Grass is either green or not green (iv) Fire burns.
(¢) No ideas are innate — Whose view is this?
(i) Leibniz (i) Berkeley
(i) Locke (iv) Descartes.
(d) “I think, therefore I am”— Whose statement is this?
(i) Locke (ii) Berkeley
(iii) Leibniz (iv) Descartes.

(e) Who amongst the following philosophers is the famous critical philosopher?

(i) Locke (i) Kant
(i) Hume (iv) Mill
(f) Hume’s theory awoke which philosopher from his “dogmatic slumbers”?
(i) Descartes (i) Spinoza
(iii) Leibniz (iv) Kant.
(g) The propounder of Representative Realism is —
(i) George Berkeley (i) John Locke
(iii) David Hume (iv) John Stuart Mill.
(h) Which of the following thesis cannot explain erroneous knowledge?
(i) Realism (i) Naive Realism
(iii) Representative Realism (iv) Idealism.

(i) Who is the upholder of subjective Idealism?
(1) Kant (i) Hegel
(i) Berkeley (iv) Locke.
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() Who is the propounder of the ‘entailment theory’ of causation?

(i) Hume (i) Locke
(i) Ewing (iv) Kant.
(k) Descartes’ theory regarding the mind body relation is
(i) Parallelism (i) Identity theory
(i) Interactionism (iv) None of these.

(1) The advocate of Parallelism as a theory regarding the relation between body and mind is

(i) Descartes (i) Spinoza
(i) Kant (iv) Leibniz.
2. Answer the following questions (any five) : 5%5

(a) What are the conditions of propositional knowledge?

(b) What are the different kinds of ideas admitted by Descartes? Explain with examples.

(c) What is meant by ‘Tabula Rasa’? Who has said this and in what context?

(d) Distinguish between Analytic and Synthetic propositions. Give one example of each.

(e) How does Locke distinguish between primary and secondary qualities?

(f) ‘Esse est Percipi’~ Who made this statement? What is the significance of the statement?
(2) What are the main tenets of the entailment theory of causation? Discuss briefly.

(h) What do you mean by Naive Realism? Discuss in brief.

3. Answer the following questions (any two) :

(a) Explain and examine the Kantian theory regarding the origin of knowledge. 10+5
(b) Explain Naive Realism. Is the theory tenable? Discuss. 10+5
(¢) Explain and examine the ‘Constant conjunction’ theory of causality. 10+5

(d) What is the meaning of the word “identity” in the identity theory regarding the relation between
body and mind? Explain the theory in detail. 3+12



